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	Q1 (2 points): Watershed segmentation on gradient images tends to over-segment the original image. What’s the reason? (hint: how does the algorithm start?)

 


	Q2 (2 points):  Compare edges achieved by watershed segmentation and the Canny edge detector with respect to connectivity and thickness.


	Q3(3 points): EM always converges to a local minimum. If you have only a single model component, how many iteration steps are needed? What can you say about the solution?



	Q4 (3 points): In the Split and Merge EM (SMEM) segment fitting, how does the algorithm distinguish if a further split leads to a better solution or an overfit?



